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M is a 2x2 rnatrix.
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just express M as seen above
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5, Question 3
Setting the parameters::

h = 6.62x107%%;
v = 0,85}

L6 % 107275
= L.38x107%y
= 1850:%x107%;

Mo
1] H 1

Formula for converting power in waits to-powerin dBm:
By = 10%eef191 f45004

» Question 3.1

Caleulating the signal-to-noise ratioin a linear scale;

N[ i""gfx )z (Pw}z N
Tze () a) + 2EH) )

29:218.9

Calenlating the signal-to-noise ratioin-dB;
Pan = 10 Logll[%]
44,5054
n Question 3.2;
Setting the riew terigerature in kelvin:
T, = 273.157

Caleulating the signal-to-noise ratio in a [inear sedle:

) @t
) ( ]

2e (£257) (Pw) + TR (o)

29991, 9




Caleulating the signal-to-noise ratio in-dB:
Pas = .10 LOGLO [%]
&4, 1T
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where are 3.3 and 3.47 0/5+0/5



- 5%0? !

L Be
i e L L BOETE
2

= %aﬁ =

'“112}4;9%%5%%;11

A/ﬁn’m e

7 ::%mu:'{ Ké

7’ Jﬁ(’-€&>®c> )
)*’ '29!rwl }s 13°

D)Mfwfowa@mmmw_w;gg

e ko o s sl i f

| l, 3 se-cnr /%ze (7&# .

sk - phaAR aﬁ/w _BemsotSsiin,
RV 2 A




Page:8

@Number: 1 Author: landaisp Subject; Note Date: 2015-04-30 09:46:37

wrong calculation.
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